BS2... SINGLE STATION SUBPLATE

BS2.**...

Single subplate (blanking)

(2 )| CETOP2/NG4
P T B A
02/03/04/05/07 5. .03
29
No variant %5. 5 | |
CETOP 2 SUBPLATES T T
BS2**../ BS212... - | \ PT B A
Serial No. T i
BS214... Cap. VIl o 2 @ o T 1 T 1 . BS. %. 04
BS216.../ BS220... N ‘Llﬁ A J‘ =
BS32... Cap. VIl ¢ 3 Weight: 0,09 Kg / ] \—I:%:I—‘
BC250AB.../ BC250PT... . OR 2-010/90 P T B a
Fixing screws
BC251... Cap. VIl « 4 M5x25 UNI 5931 v BS. X. 05
BM2**.../ BM260... _2h
Cap.VIl ¢ 5 15 4 | |
BM250.../ BM270... = P T’jB A
Cap. VIl * 6 G
, T \lﬁ\& W BS. x. 07
) It + +
CMPO2 CARTRIDGE CATALOGUE A SH ii)+ ( 1 A | |
il a I
I ! H Il
BS212 (wiTH REAR CONNECTION TO 1/4" BSP)
Single subplate ‘ ‘
(‘2 )| CETOP2/NG4 | N ‘
@ 1/4" BSP | _ 52 3085 32.5
rear connectors :
@ / - T\\_\,J,\ .
No variant . /P T !
O 7 D B I
@ Serial No. A S e 5 v s o
=205 .
ﬁ T AL
N NS
Weight: 0,3 Kg & iy I
Fixing screws M5x35 UNI 5931 1:2: l :1:2 i i
65

BS214 (wiTH sIbE coNNECTION TO 1/4" BSP)

Single subplate p!_l \_49
T B
_
(2 )| ceTOP 2NG4 e I
30 < 2l 12 30
%% = 1= ¢
N,
side connectors R — - | +— B
- — — 4 F@ [ I F— = <
No variant 5 % ‘ & LOTJ o i .
!l ‘?:71 ol r*":“ oo”¢”oo
: Serial No. 2 Gt 4%}4@ S B P
== (\JH 1& :J—Ajfcﬁ\ﬁ;\fL: J I I i
b ol | 0
Weight: 0,3 Kg [ ] \%m F—= = ¢
SIS S T PSS T 2N W r —
Fixing screws M5x35 UNI 5931 P R
6.5 _ 52 _ & 26
Vil o 2 .

Motion Systems



BS2... SINGLE STATION SUBPLATE

BS216 (witH connecToRs P/T ReAR, A/B sipe 1o 1/4" BsP)

Single subplate \_1;
@ CETOP 2/NG4 P
1/4" BSP rear = 52 26
and side connectors ; — \ |
@ PN A § @ P
. 7 \
No variant \ PN " 4 |
Il ‘* :17\71 :7’ H’—r: = I A gj ‘, a— 1 f"ir ‘
o o' _ p?r\ //'(B B < o 7r 7700
(::::::) Serial No Q)igliﬁ” . ;TJA, }J‘/ \}i — = NH “ L ;fj;r - 4147 a‘ «
) }x ¢ 'gaY b %
ol =k NEE
| L — [
Weight: 0,3 Kg ﬁ%‘* ¥ ; —
15. 4 6.5 15 — 32.5 },‘
Fixing screws M5x35 UNI 5931 2]z <0 ’;%h %,
- - QA
_ 65 _

BS220 (witH connecToRs P/T Rear, A/B sipe 1o 1/4" Bsp)

JU Y EEE

Single subplate
CETOP 2/NG4

1/4" BSP rear
and side connectors

Type of adjustment
grub screws

Setting ranges

1 = max. 30 bar (white spring)
2 = max. 90 bar (yellow spring)
3 = max. 180 bar (green spring)
4 =max.250bar(orange spring)

00 = No variant
V1 =Viton

Serial No.

Weight: 0,45 Kg
Fixing screws M5x50 UNI 5931

max. 98

max. 40

58

29

)
&

1/4"BSP

see cartridge valve type CMP.02...

Bl

P

T

*The minimum permissible setting pressure depending on the spring:

BS32 (rRepucTioN PLATE FROM CETOP 3/NG6 TOo CETOP 2/NG4)

Single subplate s o 2
=25 o5 .
('3 ) | CETOP 3/NG6 Al 5 L5 SN
<
(2 ) | cETOP2ING4 oL ol o e @ i @
[N B R Ry 's; T {
No variant Bl G o of 2~ e RO
SR L 5e ) R NI I I A AR R
@ Serial No. N M@ Ak — Al NI ;\)f‘: Z ,
I a ft\\ A - Kf‘%‘Qﬁ\ s
L ‘
o ﬁté\} - - &
YOy a— I\ | g,
Weight: 0,12 Kg 3‘1 18
= 1 = =7 =
Fixing screws M5x20 UNI 5931 _ 45 OR 2-012/90 22.5
Vil o 3 o
<Gaws> BREVINI
Motion Systems




BC.2... MODULAR COMPONENTS

BC250AB INTERMEDIATE MODULE FOR PRESSURE GAUGE CONNECTION (VENTS A AND B LINES)

Module base 111 \ Jy -
- My—P——P— |
Mo i | |
(2 )| CETOP2/NG4 o i s
NY T Y
. 0 @Jfkuuuﬂﬁp‘
Intermediate module for - B e |
pressure gauge connection &%
m
OR 2-010/90 .
Check at ports A and B ~
, 10 {
No variant I _ +HDH — ,
A e U < D AL
i g % N } HOH (O H— O
@ Serial No. e - J/@ o e = _l ey
I )
‘25‘— O
Weight: 0,4 Kg - el T
o 7 :2}1
=
BC250PT INTERMEDIATE MODULE FOR PRESSURE GAUGE CONNECTION (VENTS P AND T LINES)
Module base —— MP\* !
a ,HHH,JF’ I
(2 )| CETOP 2/NG4 o o Nl P A
N T P ‘
, 5 ‘&pr\\uuﬂ%ﬁ
Intermediate module for. - S I . ! N
pressure gauge connection o
OR 2-010/90 L
Check at ports P and T ‘ ~
No variant i ﬁ u {b , H
[T S T
. o G ‘i‘f*b% (%Bﬂ pols
@ Serial No. 0 &b 0 F V/J‘/gii\ It
Il ) L 1
| P 1O
. ‘ =
Weight: 0,4 Kg © 5. 4
o7 24
_ 60
BC251 DOWEL CARRIER PLATE FOR SOLENOID VALVE
MS-6H M5x0. 8-69 _
Module base | | \ \
| i TTT | i i
@ CETOP 2/NG4 JP\L\jL Wy P 1 B A
@ Dowel carrier plate : OR 2-010/90
for solenoid valve 0 d
= { =
. 24 CALIBRATED
No variant =5 = o
15. 4 o DIAPHRAGMS AVAILABLE
. =1 = @
(1) | serialNo. d | M5x0.8x5
Y=g H 05 | M89.10.0044
ol AL YL ! 06 | M89.10.0045
Weight: 0,05 Kg N (9# (Qx I 0.7 | M89.10.0046
ST T+ o, 08 | M89.10.0015
-1 T 0.9 M89.10.0047
S s M89.10.0048
! M89.10.0049

Vil o 4

;
1.2
@ BREVINI

Motion Systems



BM2... MULTI STATION SUBPLATE

BM250/60/70

JU U0 U UYE

Multi station subplate (supplied in aluminium material)
CETOP 2/NG4

50 = Connected in parallel with pressure relief valve and rear connectors
70 = Connected in parallel with pressure relief valve and side connectors
60 = Connected in parallel without pressure relief valve and side connectors

No. of valve seats
2/3/4/5/6/71/8

Type of adjustment (omit for 60 version)
Grub screw

Setting range (omit for 60 version)
1 = max. 30 bar (white spring)

2 = max. 90 bar (yellow spring)
3 = max. 180 bar (green spring)
4 = max. 250 bar (orange spring)

00 = No variant
V1 =Viton

Serial No.

*The minimum permissible setting pressure depending on the spring:
see cartridge valve type CMP02...

BM260 CONNECTED IN PARALLEL WITHOUT PRESSURE RELIEF VALVE

27

N

Type A B Weight(Kg)
BM260/2 105 91 0,64
BM260/3 145 131 0,87
BM260/4 185 171 1,10
BM260/5 225 211 1,33
BM260/6 265 251 1,56
BM260/7 305 291 1,79
BM260/8 345 331 2,02
$9 _
$5.5 o A
- - - +—H ;
! ‘ ! \‘1‘\ \‘1‘\ \‘1‘\ \‘1‘\ @ I ‘ | [I— |
i o ol obes A A
T S S S 5 g
gl |1 ° S e "
[N \f“ [N Q A A
ik N ° °
N h T‘ ‘
| ‘ | A A A ‘ | P
‘ | 32.5 | 40 | 40 | ses | | _
w P
- A
/Vfg\@/\/

Fixing screws M5x50 UNI 5931

Vil e b

AN
v

BREVINI

Motion Systems




BM2... MULTI STATION SUBPLATE

BM250 CONNECTED IN PARALLEL WITH PRESSURE RELIEF VALVE

Type A B Weight(Kg)
BM250/2 130 116 0,70
29 BM250/3 170 156 0,93
25-5 BM250/4 210 196 1,16
it e = o
o ol cmroz 1 I I meod ,
43 1 P | Fow | ¥ow | P i BM250/7 330 316 1,85
IO L o I IR BM250/8 370 356 2,08
é \\& b b b o
] Ll I ] I i ] I ] L
30 ‘ ‘ 1/4”BSP ‘
A 6 28 _
57.5 40 40 32.5 11.5 ‘ 13.5 A —A
7 ‘ B | ‘ 7 1/47BSP S B —B
" 1 1 1 m % :
LT of oh of oF Namims |
) [ R - < U g —
A AR % W Jéﬁg jﬁ#ﬁ% e N 2 E
| © AT A\ L
A 1IET T Ee et e s ©lE ;
> % 7 ,7% 7 g
© T\Egjjr' N ”7% Z%% jﬁrgijﬂ i \ Y A —A
S RN F N BN = S d “ B— 8
L S S o T‘ |
é © T o

11.

max. 46
T
R
—
.
oo —
U

Fixing screws M5x40 UNI 5931

BM270 CONNECTED IN PARALLEL WITH PRESSURE RELIEF VALVE

Type A B Weight(Kg)
BM270/2 130 116 0,93
BM270/3 170 156 1,16
BM270/4 210 196 1,39
BM270/5 250 236 1,62
BM270/6 290 276 1,85
4o BM270/7 330 316 2,08
5.5 BM270/8 370 356 2,31
A - A
B —B
T
2 P !
8] —A
B —B
T
P
A A —A
1/4"BSP 57.5 40 40 32.5 1/4"BSP 8‘77‘—‘8
; 25 | 25 jﬂ [ ; ;
v M| R M 4
AP LA ; PN & o
4¢7H wl 77,?;,‘;7 | ﬂé} u _
@ | Y e
5 & | - 2 3 5
& . . | F é”@
%@ o R N AR I %r o
38 6 € | | Ny ‘ ‘ 5 38
o : : g
: el

Fixing screws M5x50 UNI 5931

e s <gns> BREVINI

Motion Systems



